104F#RB %7 FHEFN A Hz%&‘f%%ﬁ’ﬁ
% (B2%) £ (-)
KR

AR ERE

(LpFR e 2 ) pF

QDAFLELE 3 %A 494 - 53124 > 53124 > =312 4 > S 3 13 4
@#3-8 ~ P EREAE R EFRE ) -

ArF*THEE -

GRFlEE F R 5 - FHY -

b b
- ~ ¢ 4ra 5[ * 10000 ot Fc o b i Aok 8 raxsl 24%;31 LR S SR

B R caikt @2 Al B2 P2

=~ G
Z4a,ABC*®, D, E, F, G » %] %_AB,
BC, CA, CA #t g DF 2 EG 42
3 H e o
AD a BE

C
DB b’ EC d’ FA f’

CF_e CG_g |
GA h

GH a(c+d)(fg—eh)
HE  (h+g)(bdf +ace)

AL

=~ R AR 2)(6X -3y = T7) = y(7-3y) chr FEfE

P AT 1<\/2+3\/3+i/4+-~-+“2\91120 <2



